UsN [_ T T T T 1T 1 T T

~. . Internal Assessment Test2 |
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ARy ¢ : | ' ~ CO RBT |
Answer any TWO FULL Questions From Part-A and Part B compulsory question. MARKS
PART A :
~ 1(a) Find Maximum Slope and deflection of Cantilever beam at free end, Loaded with UDL [10] ‘ COo2 | L2
throughout the length of the beam with usual Notations by using Double Integration : ‘T'E .
Method. [10] :co2 =
(b) State And Prove Moment Area Theorem. A
2(a) A simply supported beam of length 6m Carries two point loads of 48KN and 40KN at a [14] {cCo2} L2
distance of Im and 3m respectively from Left support. Find Deflection under each load | :
and maximum _deflection By using Macaulay’s Method. Take E= 2x10° : i
N/mm”.I=8.5x10’mm* i |
(b) Derive the expression for maximum deflection and slope if cantilever beam subjected to [061 {Co2} L3
Moment at free end. [ any Method] ?
3 (a) State Conjugate beam Theorems . / 4] ‘co2! L2
(b) Calculate slope and deflection at B in fig I using Conjugate Beam method. Take 8] -
E=210x10" N/m2, [=120x10° mm. By
(¢) Determine Slope and Deflection under Point load in fig,2 using conjugate beam Method. (8] O L/ |
PART B L ;
I A three Hinged parabolic arch has a span of 24m and a central rise of 4m, |t carries a @ 1CO3 L2

concentrated load of SO KN at 18 m from the left support and UDL of 30KN/m over the
half portion. Determine Bending Moment , Normal thrust and Radial Shear at a section 8m (10]

from the left support.
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